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(5 ]

1
2
32

42 =16

52 = 25

62 =36

72 = 49

82 = 64

L5 ]
Il
e B

92 =81
10% = 100

13=1
23=8
33 =27
43 = 64
5% = 125
6% =216
73 = 343
8% = 512
93 = 729
103 = 1000

112 =121
122 = 144
132 = 169
14* =196
152 = 225
162 = 256
172 = 289
18> = 324
192 = 361
20% = 400

113 =1331
123 =1728
133 = 2197
143 = 2744
=T R
16° = 4096
17° = 4913
183 = 5832
19% = 6859
20° = 8000

212 = 441
222 = 484
232 =529
242 = 576
252 =625
262 =676
272 =729
282 = 784
292 = 841
302 =900

ixam

312 =961
322 =1024
332=1089
342 = 1156
352 = 1225
362 = 1296
372 = 1369
382 = 1444
392 = 1521
402 = 1600

%
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Multiplication Tables from 1 to 20:

1x1=1
1x2=2
1x3=3
1x4=4
1x5=5
1x6=6
1x7=7
1x8=8
1x9=9
1x10=10

6x1=6
Bx2=12

6x3=18

6x4=04
6x5=30
6x6=36
6xT=42
6x8=48
6x9=54

6 x10=60

2x1=2
2% Q=4
2%x3=6
2x4=8
2%x5=10
2x6=12
2xT=14
2% 8=16
2x9=18
2 x 10 =20

Tx1=7

Tx2=14
7 x3=21
Tx4=98
7x5=35
Tx6=42
T %7 =49
7x8=56
7x9=63
7x10="70

3x1=3
3x2=6
3x3=9
3x4=12
3x5=15
3x6=18
3xT=21
3x8=204
3x9=27
3x%10=30

Ex1=8
Ex2=16
Ex3=24
Ex4=32
&x5=40
8x6=48
ExT=56
Ex8=064
Ex9=T2
E=x10=80

4x1=4
4x2=8
4x3=12
Ax4=16
4x5=20
4x6=24
AxT7=928
4x8=32
4x9=36
4x10=40

O9x1=9
O9x2=18
9x3=27
Ox4=36
9x5=45
O9x6=54
9xT7=63
Ox8=T2
9x9=_51
9x10=90

5x1=5
5x2=10
5x3=15
5x4=20
5x%5=05
5x6=30
5%7=235
5x8=40
5x9=45
5% 10 =50

10x1=10
10=x2=20
10x3=30
10=x4=40
10x5=50
10=x6=60
10x7="70
10=x5=80
10x9=90
10 10 =100




Tx1="11
11x2 =22
11x3=33
fix4=44
11x5=55
11x6=66
MxT7=T7
11x8=288
11x9=99

M=10=110

16x1=16
16x2=32
16 x 3=48
16x4=64
16 x 5=80
16 % 6=96
16 X T =112
16 x 8=128

16 x9=144
16 x 10 = 160
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12x1=12
12x2=24
12x3=36
12x4=45
12x5=60
12x6="72
12xT7T=84
12x5=96
12x9 =108
12x10=120

17 x1=17
17x2=34

17 x3=51

17x4=68
17x5=85

17 x 6 =102
17 x7=119
17x8=136
17 x9 =153
17 x10 =170

13x1=13
13%2=26
13x3=39
13%x4=52
13%5=65
13x6="T8
13 7=91
13x 8=104
13x 9 =17
13 x 10 =130

18x1=18
18x2=36
18x3=54
18x4="T2
18x5=90
18 x 6 =108
18x7=126
18 %8 =144
18 x 9 =162
18 x 10 =180

14 x1=14
14x2=28
14 x3=42
14 x4 =56
14 x5="T0
14x6=84
14 xT7=98
14 x8=12
14 x 9 =126

14 x 10 =140

19x1=19

19x2=38
19x3=5T7
19x4=T6
19x5=95
19x6=114
19 x7T=133
19 =x8=152
19x9=1M

19 =10 =190

ixam)

15x1=15
15x2=30
15x3=45
15 x4=50
15x5=T5
15x6=90
15x7T=105
15x8=120
15%x9=135
15 %10 =150

20=x1=20
20x2=40
20x3=60
20x 4 =380
20=5=100
20x6=120
20=7=140
20 x & =160
20=9=180
20x10=200




